
qm=;+= cfof]hgf tyf sfo{qmdx? :yfg  /sd पेश्की भुत्तfनी ;Demf}tf

1 7'nf6f/ l;rfO{ of]hgf j8f=g+=! /h]gf 100000

2 ljkb ;r]gf tflnd j8f=g+=! /h]gf 150000

3 kmnkm'n v]lt lj:tf/ sfo{qmd j8f=g+=! /h]gf 200000

4 Rof/s'n]vf]nf l;rfO{ of]hgf j8f=g+=! /h]gf 100000

5 sflnvf]nf l;rfO{ of]hgf j8f=g+=! /h]gf 100000

6 7fF6L ahf/ rf]r]9'Ëf t6aGw j8f=g+=# 1000000

7 ;'wfl/of]sf] r\'nf] cleofg j8f=g+=# d6]nf 100000

8 kfFr kmf]u6] l;rfO{ of]hgf j8f=g+=# d6]nf 250000

9 pHofnf] j8f 3f];0f sfo{qmd j8f=g=# d6]nf 100000

10 7"nf kf]v/f tnL la;fp k'ªv]t a[If/f]kg j8f =g+=@ 50000

11 s[ifL aftfj/0f tflnd pGgt j8f =g+=@ 100000

12 ;d'bfosf cWoog s[]Gb| tyf d]nf ldnfk s]Gb| j8f =g+=@ 200000

13 a'/]nL sfpnf d]nf vfg] kfgL j8f =g+=@ 350000

14 bfl/d] yf/kfNgf vfg]kflg j8f =g+=@ 200000

15 g;{l/ lgdf{0f a[If/f]kg j8=g+=% 200000
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